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&h Version)

First 15 minutes are a Qfor the candidates to read the question paper.

(1)
(i)  All questions a 0@130"}'- https://www.upboardonline.com
(iii)  Illustrate ym%uers with labelled diagrams, wherever necessary.
(iv)  Marks nQed to each question are mentioned against it.
Q (Multiple Choice Questions)
1. Choose the correct option and write jn your answer-hook :
}
(@)  The function of tapetum layer i is to:
(1) Nounsh pollen grains
(i) Form pollen grains
(iii) Form endothelium
(iv) Destroy pollen grains
348 (GG) ¢
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(b)

(c)

(d)

(b)
(c)
(d)
(e)

3. (a)
(b)

(e

-(d)

(e)

348 (GG)

Which one of the following is a detritivore ?

(1) Earthworm
(ii)  Bird
(iii) Frog
(iv)  Elephant
The vector of Dengue (Break bone) fever is : 1
(i)  Anopheles

(i1)  Culex ,

(i)  Aedes &

(iv)  None of these : 0

Which the DNA ific site ? 1

| ich enzyme cuts the at specaific s1 0‘

(i)  Polymerase - Q

(11)  Endonuclease 6

(i1) Exonuclease 0

(iv)  Ligase $

(Very Short Answer % estions)
Name the cells providing nutriti the sperms. 1
Write the full form of MT @IF‘T L + :
& ' 2 2

What is the unit of g@@ ?

How many cod there in genetic codes ? 1

.
What is ? R ' 1
Q _ (Short-Answer Type Questions-I)
is opium ? Which plant is it obtained from ? Y 14l

ow many chromosomes are found in Klinefelter and Turner Syndromes ? 1+l

. . . 9 . . es. t 9
How many types of immunity occur in humans ? wpie'melr nam ,

What are antibiotics ? Name any two microbes which are used in the ,

1é1
production of antibiotics. 1+ 5 +;
What steps have been taken by the Government to conserve wildlife ? 2
|
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(Short-Answer Type Questions-II) . ;.

4. (a) Write short notes on Physical barrier and Cellular barrier. 1 §+1 %
(b) Comment upon Law of Segregation. 3
(c) What is Cancer ? Mention its prevention and cure. 1+2
(d) Explain monohybrid and dihybrid test cross. 3

5. (a) Comment upon homology. | 3
(b) Describe the Hardy-Weinberg principle. 0& 3
e} Write Iahn_v three differences bétween anther and ovule. 0 | 3
(d)  Explain any three important characteristics of a popul& ¢ | 3

6.  What do you understand by the following : E\Q
(a)  Origin of life | o 3
(b)  Australopithecines *: 3

(¢) Infectious diseases 0: 3

(d Darwinism :6 3
‘
z\C(Long-Answer Type Questions) .
7.  Descri Quan male }}eﬁroﬂuctive system and explain the process of sperm
foqb | 3+2
' OR

Differentiate between the following : ' 9 ! +2 !

- 2 2

(@D Plasmid DNA and Chromosomal DNA

(i)  Exonuclease and Endonuclease enzyme

348 (GG) 6
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ctions. 144

What do you mean by population ? Describe population intera

Q&

1

. I
te a note on incomplete ﬁﬂnance. 23+2§
*

Is law of dominance. Wri

9. Explain Mende
OR \Qb o
| * i . ' B t.lo t.
How does fertilization take place 11 an@ Describe the post fertiliza I(;ﬂ |
* 2 E +2 ;
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